
LO: To recognise the translation of a shape 

What is a translation? 

 

 

 

This clip shows the different types of movement a shape can do. 

You looked at reflective symmetry last week (and will focus on 

rotation at a later date) 

https://www.bbc.co.uk/bitesize/topics/z2dqrwx/articles/zcjs97h 

 

Now have a look at the Lesson 1 Translation PowerPoint. You will 

need to run the slide show as there is a quiz within it. You 

should be able to see a translation (sliding of a shape) in action.  

 

Have a go at this one: 

 

Now try: 

https://www.bbc.co.uk/bitesize/topics/z2dqrwx/articles/zcjs97h


 

 

I have drawn the answers in red here. Did you get the same? 

   

 

Activity – Complete Lesson 1 activity sheet by describing the 

translation which has taken place. 

Here is an example of the sort of answer you might give: 

 

 



LO: To translate a shape 

What is a translation? Look back at yesterdays video if you need 

a reminder. 

 

Have a go at this: 

 

The answers are below: 

 

 



Today you are having a go at following instructions to translate 

a shape. To start with, just try moving in one direction. 

 

 

 

 

Answer: 



 

 

If you are feeling confident, have a go at translating coordinates 

left or right, then up or down.  

 



Answer 

 

Have you managed to spot a pattern with how the coordinates 

change for translations? If so, what is it? 

 

Activity – Complete the sheet for lesson 2. 

 

LO: To give translations via coordinates. 

This activity is a little different. Your teachers should have set 

you a ‘to do’ on Purple Mash. This is to practice what you have 

been doing on translations this week.  

 

Complete the quiz. When you have done it, you should be able to 

select to hand it in so your teacher can see the brilliant work you 

have completed. 

 

When you have completed your activity fill in this self assessment 

grid. How confident are you completing translations? 



 

 

LO: To multiply and divide by 10, 100 and 1000. 

We have finished our work on position and direction and are 

moving onto converting measurements. Before we look at this, we 

need to recap on what happens to the number when we multiply 

and divide by 10,100 and 1000. 

Watch the video at the top of this BBC bitesize daily lesson: 

https://www.bbc.co.uk/bitesize/topics/z36tyrd/articles/z2fkwxs 

 

There are also written notes for you to read through and a quiz 

to try. 

Now, have a go at this fluency exercise: 

https://www.bbc.co.uk/bitesize/topics/z36tyrd/articles/z2fkwxs


 

 

The answers are as follows: 



 

 

Activity – Play the game from activity lesson 4 with an adult or 

older brother or sister 

 

LO: To convert metric measures involving length (km and m) 

How many metres in a kilometre? 

What does the prefix kilo mean? (This might help you) 

 

There are 1000m in a km so we can use our knowledge from 

multiplying and dividing by 1000 to help us with our conversions 

today. 

 

To calculate how many metres in 4km, you have to complete the 

calculation 4 X 1000. Think back to your work yesterday: 



 

You will see that the 4 has moved 3 places left when we multiply 

by 1000, then zeros have been added as place holders. 

So 4km = 4000m 

 

To calculate how many km is equal to 3500m we need to do the 

calculation 3500÷1000. This time the digits will move 3 places to 

the right as below: 

 

We do not need to write any zeros which come at the end after 

the decimal point. 

So 3500m = 3.5km 

 

Have a go at filling in this grid: (Remember to draw up a quick 

place value mat if you need to use a calculation for the 

conversion.) 



 

 

These are the answers: 

 

 

Activity – Have a go at the converting measurement activity sheet 

for Lesson 5 

 


